'l)n‘nmwm{w
Ghwquwluplubn

UGlup Unphg SwjwuwnwUh GpGluwutnh ULnp Swpdw Ghwgwluplbnph gwly
GUp Jwagulb] wiju tnwnh 0Gp niownnniiwlu ygunpnunid wywhGin tnGnwhwudwéd
GnGluwutbnhU: Lpwlp 2wwn NnddwnnirintbuGnh dhony GU wlgb| wju twnh: 2023
rYwlywlh Unp tnwnhU nhdwdnpb| GU 2powthwydwl OtGe: huly Gpynt wdhu wnwe
Upwlg pnUuph wnGnwhwlG GU hpGug wnubnphg: UhUs wnpgwiugh GpGuwuGnp W
Upwlg pUunwuhpUGpp  Swjwunwund  Unp Ywlp  ulubGint  gnponyd  Gu
Swlpwptnuwos, “GUp gwluwlund GUp nNipwfunieintu pGpG Upwlbg wnutGp Lnp
Swnpyw wuwyuywiutnny:

huswGu Uhown, gwluynieintlluGnh OGS Jwup, npnup GpGluwubnpp dGg wwwndb] Gu,
owwn hwutuwn GU bwl pjnieobh wnnudny: UGUp agunnid Gup nppwU hbwpwynp £
owwn Gpwgquwlpubn hpwywluwglb): Anpdpurwgn hGunlbywu £ wdtlu wugqwd uh
gwlynteintl Gup LGPYHWwjwglt N, nnh hpwwUwgnidhg hGunn, hwennnbnt £ jntup:
GuGp dhwuhU UdwunnphU hwadblUp, G nphwlughg pwUhulb GU hpwywuntiEiNtu
NWNab: Mwunpuiuwn tp:

Eo1/2



FinLpb
hug

Gowuhy
Uwhbwluw
huplbwag|nn

Cunhwuntp

®Pnfuwndbp’ 1UUL nnwp = 402.88 33 npwd

Uhwynp wpdtp

2ULUY 33 npwd
40 40,000
7 130,000
9 35,000

Cunwdtup
33 npwd

1,600,000
910,000
315,000

22,825,000

Eo2/2



